ARTILLIAN GRAPPLE UPPER ASSEMBLY (GRP-GP20-GRUS)

When installing your Grapple Upper Assembly to your Lower Assembly, please make sure to install hardware as shown in the detail below. (Cylinder attaches
using same combination of hardware as it is attached to the upper assembly). It is important not to overtighten the bolt connecting the cylinder to the lower
assembly. Assemble hydraulic hoses as instructed in Grapple instruction manual.

—  3/4" Lock nut *NOTE: Do not over-tighten cylinder bolts. (Allow washers to move)

——  3/4" Washer

‘\ Grapple Lower

5/8" Washer

5/8" Lock Nut

Composite Hinge
Bearing

*NOTE: Tighten to
160 Ib/ft

Grapple Upper

Assembly

© Artillian, LLC 2015-2016 P/N: IM-GRP-GP20-GRU
Patent#: 10,233,612. This informa;ion is not to be redistributed or duplicated. REV. B, 12/26/2019



